=t —r O .S —
I\ T DILE - KBHRFELEI ([ = 8 |
T3 0&F7H
BR (E304F1~6A8)
1 B3 (FEL) ORERR (BEHH)
(1) MERELE (B
® Mg R HEH
TRH30F1~6A | GiIERSALL| BEE (%) | FHI0F1~6A | siERSL | EREE (%)
& 217,202 -5, 426 -16.6 663 -44 -6.2
(2) ERILFORERE (HH)
2 M R 2 W ™
THB0E1~6A8 | giERBItt| #iEE (%) | FH30E1~68 | giEmLAtt | #EE(%)
RBAE 2,672 -720 -21.2 88 +24 +37.5
(5> BEEHRBAR) 1, 565 -154 -9.0 55 +18 +48.6
BEES 408 -259 -38. 8 19 +5 +35. 7
1§ 65 +1 +1.6 3 +3 +0.0
vl WA &~ 406 -224 -35. 6 5 +1 +25.0
BiEES 4, 606 -818 -15.1 81 -13 -13.8
Bmia S 1, 044 -598 -36. 4 37 +9 +32. 1
- -t - LY A 1,513 -923 -37.9 41 -10 -19.6
4858 171 =31 -14.9 8 +8 +0.0
$STRSERR 9 +0 +0.0
h5lE 3,372 -289 -7.9 99 +5 +5.3
& &t 14, 263 -3, 861 -21.3 390 +32 +8.9
<LREBEGHOEEL (REH) >
+40 | [ Hi il B I 7 ——————————————————— -
7
+20 | F--d B -----ccmm e - -—- --q Bt - - -
10 222 7 %
) (5BEE ‘ . F— kA _ N N s
BAE ﬁigﬁk BEEE [ = BEEZ | H&msoly | Ehlsly IO SERREEER BElE
OFp2 9% 64 37 14 4 94 28 51 0 94
BER30F 88 55 19 5 81 37 4] 8 99
2 REEWH (ABER) OFRLERRE (HH)
B
TRB0E1~6A8 | giERMALL| #EE (%)
% T 2 -1 -33.3
- 6 -6 -50.0
B S 404 -49 -10.8
2 B 412 -56 -12.0




I BETRIDOLERERR (FK30F1~6H)

SHE AL E

BT & | R (meme o e enn | BEE| by x| BERE| mansu| mreou| FEIE | B | HHDFR | waEK
BH 141 -14 5 1 1 1 2 1
BT 2 -1 1 1
R ET 3 -1 2 2
R UET 10 +4 5 1 1 1 2
FEEREAE 1 +0 0
JEEHT 0 -3 0
RRHT 48 +6 36 1 1 1 9 2 2 20 1
5 ARHT 10 -4 3 1 1 2
5 thET 13 -2 Ji 2 5
FEHEET 40 -2 22 2 2 1 5 1 1 12
=g 22 +5 14 Ji Ji 2 1 1 1 1 1
FHAtLLET 0 -4 0
HEET 12 +1 5 2 2 1 1 1
FRHT 4 +1 4 2 2
HTHHET 16 +6 6 1 1 1 3 1
FrEAET 4 +0 2 1 1 1
RHTHET 0 -2 0
78 31 Fr BT 1 +0 1 1 1
R A FrET 2 +1 2 1 1 1
Al ERET Ji +2 4 2 1 1 1
At 1Ly 5 T 1 -2 1 1
= AHET 3 +1 1 1 1
K& BT 1 +0 0
Ly 155 T 0 -1 0
-3 3 -4 2 1 1 1
JEEET 101 -11 4 3 1
proetdiil) 3 +0 2 1 1
IR BAET 1 -1 0
B 7 2R HET 10 +5 4 3 2 1
REF0ET 9 +0 8 1 1 6 1
RIRHT 10 -6 Ji 2 5
FRHET 8 -2 5 1 1 1 2
fiEn == AET 17 +0 10 10
EA B HT 6 -3 4 1 1 2
FREEHT 4 -1 1 1
RIGHET 2 +1 0
1E/ KHET 1 -2 1 1
JNEET 2 -1 0
SRET 4 -2 4 1 1 2
H o HET 4 -9 4 1 1 2
EET 2 -2 2 1 1 1
Sy AT 13 -6 9 1 1 5 1 1 1
LA 23 -1 13 1 1 3 1 2 4 1
BAHE 10 -6 9 5 3 1 3
A AT 4 -1 1 1
KLLIET 10 +4 9 3 1 1 1 1 2
AT EFHT 0 +0 0
HimHET 4 -4 3 2 1
ZARKHT 4 +1 3 1 2
e Ji -2 5 1 1 1 1 1
fxET 12 -2 8 2 2 1 1 2
ZARAKREET 3 +0 2 2




B =
SHERLE
A RE TR st | mAR EEnn | BMEE| i-b (| BEEE|wanso| Beann| FEIE | WA | DR | wri
= AR ET 19 +6| 13 2 1 1 1 1 1
= A RYFAET 11 =0 1 4 1 1 1 1
sazpme| 7|+ 2 2
= AR AT 12 -9 7 1 1 5
= HRET 17 +3 9 4 1 1 1 2 1
REH 21 +6f 17 8 o 1 1 1
FREAET 12 -3 8 1 1 2 1
EEidil 20 -1f| 15 1 1 5 1 5 2
BFHET 3 -5 1 1 1
FOSRHET 26) +10] 18 1 3 5 4 1 1
2 RiTET 8 +] 1 2 1 4 1
R imET 12 -1 1 4 2 1 1 1
AR 5 T 1 +2 4 2 1 1
4 AHT 4 0 1 1
Y& R ET 5 -1 2 1 1 1
JI SHT 3] =0 1 1
RISL 0 -3 0
P FHET 32 19 19 1 1 1 3 1 9 1 2
RHET 4 +4 1 1
gE /N1 BT 11 +3 6 1 1 1 1 3
/1M1 BT 16 +9 8 5 4 3
F<FHT 0 -1 0
S FRET 0 -2 0
AFHET 2 +2 1 1
B HET 11 %0 4 3 3 1

XifEt £ R OB FLIRLGDBENHYET,

—

o

Elx, 2VHIZE

AR

N . /
7 - J
1\\ =a
i .
) &
N
//

ERITEFEFB/TLESI LB HY.,

108

1TFEDHTHRABNSHET S

FEITY, =, BARKGYKA DK EBVKHEICHE TSI B LIEFLIE, RETFTIE
HYFHEAN, TEHET—ATTHLLEVWKSIICTILELRICTEESAFTNLEVKLSITEE

TOLENDHYZFT,

BIAMo., REPHMYSWEFZHRITEL., RYADHEFR., BAZ. ELRoly, HILFE
BEDHEEFIZHOLLENEIRNERERELEL &,

<EBDERD>
O HEZXNREL-BAZORIL
O BEEZORML

O WHEFIROWELL

O FEBEXMDILFEMEMNLL




m =
I HRZEERASEEOORESY (FRI30F1~6A)
wa | my | B wa |y | B

B 17 -1 17 H o HHET 1 -2 1
Y& B HET 3 +3 3 FaET 3 -2 3
Fh b ET 1 -2 1 IR ET 15 -10 15
R ET 1 -5 7 & LU BT 21 +2 21
FREREHET 0 -1 BaHE 6 -3 6
JEEHET 0 -1 qe:) 6 +2 6
BRHAT 15 +3 15 KILIET 3 -1 3
45 AHT 15 -3 1 14 AT EF BT 2 +1 1 1
4t ET 5 +1 5 HomET 15 +2 1 14
{EEHET 14 +1 14 ZARAKHET 2 +0 2
B ET 13 -11 13 ESEi) 2 -3 2
FnLET 2 +0 2 FXET 1 -1 1
AT 5 +0 5 ZARARFHET 2 -7 2
F+RHET 1 +1 1 =R T 10 +6 10
FTEET 12 +10 1 11 = SRR AT 10 -1 1 9
AT 2 +2 1 1 = AR AT 1 -5 1
BUHTHET 2 +1 2 = AR A AT 6 +2 6
7 5! AT T 1 +1 1 = HAET 33 -4 33
BRI A ET 0 -1 12EH 19 +6 19
Bl SERET 0 +0 FRENET 5 -12 5
At LA BT 3 -5 3 T FET 4 -1 1 3
= AET 0 -3 H HHET 0 +0

K E BT 2 -3 2 FORET 21 +4 21
LL1 W T 2 +2 2 T2 RITET 4 -4 4
L &HT 3 +0 3 R i BT 8 +1 8
EEET 4 +1 4 R B ET 9 +7 9
prtdiiy 1 -1 1 B4 ABT Ji -2 1
B EAHET 3 +0 3 JE PN ET 2 -1 2
BR A A ET 2 +0 2 JI| BT 2 +1 2
B FOET 2 +1 2 FEET 1 -2 1
KERHT 1 +4 7 FRFFET 12 -8 12
FRET 4 -5 4 HRHET 0 +0

fEN=E AT 2 -2 2 /0N ET 3 +3 3
EHHET 2 -1 2 /NI BT Ji -1 Ji
FRAEHET 3 +3 3 B3 HET 0 +0

RIGHET 0 -2 <FREHET 0 +0

16/ KHET 0 +0 ARFHET 0 -2

/NSZHET 0 -6 BRFHET Ji +0 1 6
ERET 1 -2 1

-l'/_

O—FMRILMOFAILEFO—FEROKYE
[2DOWTELEBS

L=z ? HAGZESFS HHLLPY

\_

OfWEhtEE TWHRIAIMEREER (BF 71—-2219 FA4Y¥IL1Y)



